\A/owm -(AE'. \/\J/\k\\ og' K“ﬂl Q“ow?n Q«nu‘-ﬁom ol

' SM,:\,_J,;O,\S? W e :,\\')w)-’o-ns?

g.. 7—7 3: N — N hZ —=50,1,2,3,4¢

n — He vemaide.
N 2 n+| wn — n+| AR

divided bA Y

BQ 'Lea"\‘ons
) —

Qe}: A &:..\a\-u‘ov\ -CA =B ¥ a Lli‘ec'hov\ :Q
i I§ bouv\ Q sh.jecl'hn a«i an :«\JQA‘»'M-

b oo & (V4 B) (@xe)[S0y]

-\: IV\\'\QU‘-}V& & (V x‘)xzeA> [.ﬂx'):&(xls = X, = xz]
& (\/ 343) (\/,(\ ),(zeA> {@M =y A $icyr)

=j X“; xl

-roje,a«tzf) R 3&‘\' \H( S-\o“ocm’j..



Lemma: Led f:A =B b a ‘Qnu‘—?on. Tl\e-\
-Q SN Li\iec\"\m\ IS: Aﬁsl an\lJ i-c &r

:SEE) Hee exish Ta w\'.zwg
vl 38 W oy

E_)i'- SZ-*Z Fr e 36—2) Wee X a
n —>n W\icLu xel Suche H\o«“' VRXB":&)

name\j x=:S-I.

.J:nverse i’TAnu'"'?ong

A LESCC‘\";OV\ &:A - S‘Ms w o nle Sor

301:3 ‘u«cL B gvows A Sredgtw“ , :SeE

Con o LML *L? Hve wm‘zo{, xGA §u~ol« Vl'{m"l'
L6 N



D_C_g: Le"’ -‘:A—’K be a l?i:‘evl‘»'ov\. 'T\ne,
WMverse &«nc'\ﬁon og 'F i

(7" B> A

ﬂlegne& as gonows'- For (’.ML € E)
Si“‘ (33 '$ Mﬂe unigue elememl lGA
Sundh \H'\A‘l’ Q(X) = 3

Thet 5 ~P-'(J§=x & :‘.S:HX)

Ex: £ R (0,00 ghen b £lx) = &
9 @ LSCC-‘-?OV\.
700,003 =R 1 quen by ()= bl
\v\(jS:x &> j=e"

Ec gl —[00) & o ke
X

— x*

T4s werse 1o &"2 £0,20) - (0,00)
47— 99

Hex e e

ond X320



E_xf Sin: R—=R Y ’lo“' ~ ‘).‘\')tu‘-\'on)
bt sai [-T 1N U Y TS

Tts mevse & sw't (V] = [-5 3]

S (3) =x & 3T s (=)

ond “TEx¢F

_n'\w\ Le'|' -FA"E be a bec\'ﬂov\ Owu\ H-
‘c r;'*A LC r‘-s lv\verse —1\1“

®$°$-AA
®£$|-0\B B%B

T\ms 15 esse,ml-ta“ e re \mms og ‘H-& xﬁm&mmw‘%\
&»Aﬂﬁ ?"(:Q = X O 13&

P_V_l;o_g\» @ Lel X € A We Mv\f\’ S‘now
(769 = i) = .

Set 3$(x3-1m LJMH & £
'F.(:o x. Bt Hen

663 £(S6)=§7(d=x. v



@ LQ" 3‘8 e mur,' s\ww
(573 = ;0\3(33 “q
S(’:" X:£"(3>, Then $(x)= 3) So
¢ °‘F-‘)(\~9 = £(FQ) = $0y= N v

®

Cor: ‘Le} LA =8B e - LtJec-l-:on. “Then s
iNVverse -c 'B A a'so o L&sec‘hon) c..._al

Y5,

B’ﬂgt LQ-‘- -C‘.A*B be o ‘;UecLbn.

° 'C" 'S surcec"-\ve . Lot xeA,
We wmsx- Qa& 353 So H«l -(:q( )‘X.
Sed 4" £69). 'qu,,\’ lij U i{,w
)

-F"(JB = £7(50) = x. _




* f" is imechve Let
\.‘le‘ = ' ze B S‘*"l"
%\4 '(\-‘(3‘3 = -F-'(:Xg. j

Ther
_(: D) = -1
A AR
da = 12' v

. _F" .
( .)‘ - ‘c 83 &ng\;kon, &, x&A m.l SEE’
€ > () " & x = S;"(j‘) = ﬂx)=3.

—I—lws) (‘F-').' = 1
1



_nr\e @Ilowzg 'Hf\ﬂvovew\s are rrove.«& wsivj st [
methodss.

Thei Leb BA=B ad $B=A e Lo
Il jog - ;AA ond gj :;O\B)
Hen S: S & 'ofdec"‘?on ﬁv\e\ J'-‘ ?"-

T_\'\_vﬂ: T S A-R Mj 3‘-3-’6 ove
L‘\')w"\‘ms, 'H\Qv\ 3°£'. A —=>C 15 e

bijection oo, and ™ (qe8)" = 47eg"



